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Prof. Mario Barceló

Chapter 2
Applying the Concepts

For exercise with blanks (___) fill each blank with a single word or number.

For exercise with ellipses (…..) complete the statement with as many words as necessary.

For exercise with words in brackets ([increase, decrease]) circle the correct word.

1. Comparative advantage

In an island there are two products available: apples and fishes. In one hour, Mary can either fish two fishes or pick up 1 kilo of apples, whereas John can either fish 4 fishes or pick up 3 kilos of apples. How can Mary and Juan improve trading?

a) Juan is more productive than Mary, and hence he cannot improve trading with her.

b) Mary is more productive than Juan and hence she cannot improve trading with him.

c) Mary gives apples for fishes to Juan.

d) Mary gives fishes for apples to Juan.
2. Comparative advantage and trade
Suppose Jack takes 20 minutes to pick a banana and 40 minutes to pick an apple. Further, suppose Carlos picks a banana in 10 minutes and an apple in 5 minutes. 
a. Jack's opportunity cost of one banana is ___
b. What is the maximum number of bananas Jack is willing to give away for one apple?
c. What is Carlos' opportunity cost of one apple?
d. What is the minimum number of bananas that Carlos is willing to accept for one apple?
e. How can Carlos and Jack be better off by trading? Explain what each one of them is going to produce.
f. At what price are Carlos and Jack going to exchange apples and bananas?
3. Innovation and Trading Cities: Numbers

Consider the examples shown in Tables 2-1 and 2-2. Suppose a single number changes: The shirt output per hour in the North is 4 shirts instead of 6. To specialize a N household switches 1 hour from bread to shirts, and S household switches 2 hours from shirt to bread. The exchange rate is 3 shirts for 2 loaves. There are scale economies in exchange, and a transaction takes 30 minutes to execute.
a. The gains from trade are ________ for North and _______ for South.

b. A trading city [will/won't] develop because ……..
c. Suppose an innovation in transportation decreases the transaction time. A trading city will develop if the transaction time is less than ___ minutes because …...

4. Drilling for Cities

Consider a country with two regions separated by a mountain range. Initially each region is self sufficient in shirts and bread, and there are no cities. Suppose that a tunnel is drilled through the mountain, decreasing the travel cost between the two regions. The tunnel will cause the development of a trading city if these three conditions are met … 

5. Innovation and Market Areas

Consider the example shown in figure 2-1. Depict graphically the effect of the following sequences of change on the “martini glass” figure and the width of a factory’s market area. The changes are cumulative.

a. An innovation in production that doubles labor productivity in factories will [shorten, lengthen, not change] the stem of the martini glass from _____ loaves to _____ loaves because …..

b. The width of the market area increases from 16 miles (8 miles on each side) to __ miles (___ on each side) because ….
c. An innovations in transportation that doubles consumer travel speeds will [decrease, increase, not change] the slope of the martini glass from ____ loaf per mile to ____ loaf per mile.

d. The width of the market area increases from ___ miles (___ on each side) to __ miles (___ on each side) because ……..

6. Singing and the Internet

Consider a region where households produce and consume two products, bread and live musical performances. All workers are equally productive at producing bread and music. The production of bread is subject to constant returns to scale, with one hour required to produce each loaf. In an hour a single person can produce one unit of music for herself. A choral group of 20 people working for an hour (on practice and performance) can produce 1 unit of music for an audience of 80 people. Assume that the opportunity cost of actually listening to the music is zero. The travel cost for music consumers is 1/8 hour per round trip mile.
a. The equilibrium price for choral music-- the price paid by each person who listens-- is ___ loaves because …. 
b. Use a Martini-glass figure like Fig.2-1 to show the equilibrium market area of the choral group. The stem of the martini glass is ____ loaf and the slope is ___ loaf per mile, so the market area is ________ on each side because ……….
c. Suppose choral music becomes available on the internet and the provider charges ½ loaf of bread per song. The market area is ____ miles on each side because …...

7. Cheap Beet Hauling

Consider Fig. 2-3 which shows the market areas of sugar –beet processing plants. Suppose that an increase in the price of Diesel fuel doubles the cost of hauling sugar beets from farms to processing plants. Modify Figure 2-3 to show the effects of higher transportation costs.

a. The slope of the net-price curve increases from ____ per mile to ____ per mile.

b. If the number of processing plants remains at three, the net price received by the farm that is most distant from its closest processing changes from ____ per ton to ____ per ton.

c. We would expect the number of processing plants to [increase, decrease, not change] because …..

8. Beer and Wine

Consider the locations of breweries and wineries. 

a. Most breweries locate close to their customers (far from their primary input sources) because …..  

b. Most wineries locate close to their input sources (far from their consumers) because ….
c. Consider a Nation 120 miles wide. Beer consumers are uniformly distributed, while grapes are uniformly distributed trough the western region of the nation. There are two evenly spaced wineries and two evenly spaced breweries. 
· The wineries will locate at mile ____ and mile ____, splitting the _________.
· The breweries will locate at mile ___ and mile ___, splitting the _________.
9. Trading city and factory city
Enumerate the distinctive factors that made a trading city and the ones for a factory city and compare both cases.
10. Trading city and factory city in history

Give an example of a city founded or grown as a trading city and one founded or grown as a factory city and comment its history.

